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SIGN IDENTITIES: sin(—0) = —sin6
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PRODUCT TO SUM: 2sina cosp = sin(a + B) + sin(a — )

2cosa cosf3 = cos(a + B) + cos(a — )

2cosa sinf = sin(a + B) — sin(a — B)

— 2sina sinf = cos(a + B) — cos(a — B)

90% 12 @degree | 0 | 30 | 45 | 60 | 90 | 180 | 270 | 360 4
, T b4 T T 3 sin 0 All +ve
10 nl1 o O readian 0 6 4 3 2 T - | 27 || csco nn |
T < tve
T m v o sin @ 0 1/2 | 12 | V3)2 1 0 -1 0 mrv
360° cos 6 1 |82 |12 ] B | 0o | 1 0 1 tan® | cos®
cot 0 sec 6
2700" 37[/2 tan 0 0 1/\/§ 1 \/§ [00] 0 o0 O +ve ¥ +ve




